Double Revolving Oven

MODEL DR-34

Service Manual
Serial Numbers 100482 and Higher

N

| 1 1
4
2

V4



Warranty Information
LIMITED ONE YEAR WARRANTY

BKI (The "Company") warrants to the original purchaser that at time of shipment from the
Company factory, this equipment will be free from defect in materials and workmanship. Written
notice of a claim under this warranty must be received by the Company within ONE YEAR from
the date of installation, but no longer than ONE YEAR AND THREE MONTHS from date of
shipment from the factory. Defective conditions caused by abnormal use or misuse, lack of or
improper maintenance, damage by third parties, alterations by unauthorized personnel, acts of
God, failure to follow installation and/or operating instructions, or any other events beyond the
reasonable control of the Company will NOT be covered under this warranty. The obligation of
the Company under this warranty shall be limited to repairing or replacing (at the option of the
Company) any part, with the exception of lamps, fuses, and glass (which are not covered under
warranty), which is found defective in the reasonable opinion of the Company. Any part found
defective by the Company will be repaired or replaced without charge F.O.B. factory,
Simpsonville, South Carolina or F.O.B. authorized BKI Distributor. The Company and/or its
authorized representatives will assume the normal replacement labor expense for the defective
part for the period of the warranty as stated above, excluding travel and/or other expenses
incidental to the replacement of the defective part, where replacement work is performed during
standard business hours and not subject to overtime, holiday rates, and/or any additional fees. IN
NO EVENT SHALL THE COMPANY BE LIABLE FOR LOSS OF USE, LOSS OF REVENUE OR
LOSS OF PRODUCT OR PROFIT OR FOR INDIRECT OR CONSEQUENTIAL DAMAGES
INCLUDING BUT NOT LIMITED TO, FOOD SPOILAGE OR PRODUCT LOSS. WARRANTY
DOES NOT COVER GLASS BREAKAGE. THE ABOVE WARRANTY IS EXCLUSIVE AND ALL
OTHER WARRANTIES, EXPRESS OR IMPLIED, ARE EXCLUDED INCLUDING THE IMPLIED
WARRANTIES OF MERCHANTABILITY AND FITNESS FOR A PARTICULAR PURPOSE.

REPLACEMENT PARTS

Any appliance replacement part, with the exception of lamps, fuses, and glass, which proves to
be defective in material or workmanship within ninety (90) days of installation will be replaced
without charge F.O.B. Factory, Simpsonville, SC or F.O.B. authorized BKI Distributor. The user
shall have the responsibility and expense of removing and returning the defective part to the
Company as well as the cost of reinstalling the replacement or repaired part.



Double Revolving Oven Table of Contents

Table of Contents

Table Of CONtENTS ..o 1
1] 4 oo TN Yo 1T ] o NS PRSP OUPPPPUTPRR 2
SAfELY PrECAULIONS ....coi ittt ettt e e et e e e st bt e e s b b et e e e aabe e e e s sabeeesabbeeeessabeeeeee 2
Safety SIgNS NG MESSAGES ... ueie ittt ettt e e e bt e s e b bt e e s ab et e e e nbe e e e e anre e e e anenes 2

SAFE WOTK PIACHCES ....ciiiiiiiiit ettt e e e e e e st e e et e e e e e s nbe b e e e e e e s nbbbeeeaaaaeas 3
SAFELY DECAIS ...ttt ettt et e e e e e e e e e e e e e e e a bt et e e e e e e e e e aa b e e et e e e e e e nnnbaeeaaaaeas 5
Health ANd Sanitation PracCliCeS ...........uiiiii it e e e ee e e snneeee s 6
o oo [ = T To |1 o TP EEPRN 6
StOrage Of RAW MEALS .....ccoi ittt e e e e e e e st e e e e e e e e s st b et e e e eeeesessstabeeeeeeeeasnrbeneeaaeens 6

(@0 [1aTo [ @10 0] (o I =0T T LS PP 6
Storage Of Prepared FOOUS .......coiuiiiiiiiiiiie ettt sttt e s st e e s b e e e s snne e e e eneees 6
TaESy =11 =1 4]0 ] o ISP PRSP PP PPPPPPRY 7
(8] aT o= Tod (o = Ta o I o F= U o | 119V SRR 7
(o Tor= taTo] g J=TaTo IO 1= T =T ot PSRRI 7
KA1V SRR 7
REPIACEMENT PAITS ... ..ot 8
YT 0 0] o] [T TR 8

= [=Tod g (or=1 M@0 ] 1 4] o To] 1= o1 £ T TP PUETPT 22
MeChaniCal COMPONENLES .....uuiiiie e ettt e e e s e e e e e e s e e e e e e e e e s ss b e e e e eeeeessastbreeeeeeeesesnnrereeeeessanrnnnees 24

F oot TS0 T PRSP 26
RVAT T e T =T | =g B 27
AN [0 ) = OO PP PT PPN 36




Double Revolving Oven Introduction

Introduction

The Double Revolving Oven is a compact, attractive and functional unit utilizing a double revolving
mechanism that ensures fast and even product cooking. It contains removable components and doors on
both sides for easy accessibility, maintenance and cleaning. A touch pad controller and switches are
provided to allow for quick setup and operation of the unit.

The BKI name and trademark on this unit assures you of the finest in design and engineering -- that it has
been built with care and dedication -- using the best materials available. Attention to the operating
instructions regarding proper installation, operation, and maintenance will result in long lasting
dependability to insure the highest profitable return on your investment.

NOTICE PLEASE READ THIS ENTIRE MANUAL BEFORE OPERATING THE UNIT. If

you have any questions, please contact your BKI Distributor. If they are unable to
answer your questions, contact the BKI Technical Service Department, toll free:
1-800-927-6887. Outside the U.S., call 1-864-963-3471.

Safety Precautions

Always follow recommended safety precautions listed in this manual. Below is the safety alert symbol.
When you see this symbol on your equipment, be alert to the potential for personal injury or property
damage.

Safety Signs and Messages

The following Safety sighs and messages are placed in this manual to provide instructions and identify
specific areas where potential hazards exist and special precautions should be taken. Know and
understand the meaning of these instructions, signs, and messages. Damage to the equipment, death or
serious injury to you or other persons may result if these messages are not followed.

ADANGER This message indicates an imminently hazardous situation which, if not avoided,

will result in death or serious injury.

AWARN'NG This message indicates a potentially hazardous situation, which, if not avoided,
could result in death or serious injury.

ACAUT'ON This message indicates a potentially hazardous situation, which, if not avoided,
may result in minor or moderate injury. It may also be used to alert against unsafe
practices.

NOTICE This message is used when special information, instructions or identification are

required relating to procedures, equipment, tools, capacities and other special
data.




Double Revolving Oven Introduction

Safe Work Practices

Wear Safe Clothing Appropriate To
Your Job

Always wear your insulated mitts when handling hot racks
or touch any hot metal surface. If you lose or damage

your mitts, you can buy new ones at your local restaurant
equipment supply store or from your local BKI Distributor.

Never wear loose clothing such as neckties or scarves
while operating this equipment. Keep loose hair tied back
or in a hair net while operating this equipment.

Always wear appropriate personal protection equipment
during the cleaning process to guard against possible
injury from hot cleaning solution.

Beware of High Voltage

This equipment uses high voltage. Serious injury can
occur if you or any untrained or unauthorized person
installs, services, or repairs this equipment. Always use
an Authorized Service agent to service your equipment.

o

Keep this manual with the Equipment

This manual is an important part of your equipment.
Always keep it near for easy access.

If you need to replace this manual, contact:

BKI

Technical Services Department
P.O. Box 80400

Simpsonville, S.C. 29680-0400
Or call toll free: 1-800-927-6887

Outside the U.S., call 864-963-3471
Protect Children

Keep children away from this equipment. Children may
not understand that this equipment is dangerous for them
and others.

NEVER allow children to play near or operate your
equipment.




Double Revolving Oven

Introduction

911

Keep Safety Labels Clean and in Good
Condition

Do not remove or cover any safety labels on your
equipment. Keep all safety labels clean and in good
condition. Replace any damaged or missing safety labels.
Refer to the Safety Labels section for illustration and
location of safety labels on this unit.

If you need a new safety label, obtain the number of the
specific label illustrated on page 5, then contact:

BKI

Technical Services Department
P.O. Box 80400

Simpsonville, S.C. 29680-0400

Or call toll free: 1-800-927-6887
Outside the U.S., call 864-963-3471

Be Prepared for Emergencies
Be prepared for fires, injuries, or other emergencies.

Keep a first aid kit and a fire extinguisher near the
equipment. You must use a 40-pound Type BC fire
extinguisher and keep it within 25 feet of your equipment.

Keep emergency numbers for doctors, ambulance
services, hospitals, and the fire department near your
telephone.

Know your responsibilities as an
Employer

e Make certain your employees know how to operate the
equipment.

e Make certain your employees are aware of the safety
precautions on the equipment and in this manual.

e Make certain that you have thoroughly trained your
employees about operating the equipment safely.

e Make certain the equipment is in proper working
condition. If you make unauthorized modifications to
the equipment, you will reduce the function and safety
of the equipment.




Double Revolving Oven

Introduction

Safety Decals

NOo202

-~

/. DANGER

HIGH VOLTAGE.

MNO381

NO200

IMPORTANT

Lubricate BK] Rotisserie gears
with BK] lubricant each day

after cleaning. Fallure to clean
and lubricate the gears can
damage your oven's motor and
warp the goar assembly.




Double Revolving Oven Introduction

Health And Sanitation Practices

BKI Rotisserie Ovens are manufactured to comply with health regulations and are tested and certified to
UL®, cUL®, and NSF® standards. You must operate the equipment properly using only quality products
and use meat thermometers to insure meats are thoroughly cooked.

Food Handling

e Wash hands thoroughly in warm, soapy water after handling raw poultry or meats.

e Clean and sanitize all utensils and surfaces that have been in contact with raw products. Clean
and sanitize the meat forks or baskets between cooking.

e Never place cooked meats on the same surfaces used to prepare raw meats, unless the area
has been thoroughly cleaned and sanitized.

Storage Of Raw Meats
e Designate an area or shelf strictly for the storage of all raw meats to be used in the rotisserie.

e Raw product must always be stored at temperatures below 38° F. (3° C.).

e Never store or mix raw foods above cooked foods, as this is a health hazard. The drippings from
raw foods contaminate cooked or processed foods.

e All chicken and chicken parts to be stored overnight must be thoroughly iced down and
refrigerated.

Coding Cooked Foods

All products cooked during the day should be sold the same day.

NOTE: It is not the intent of the rotisserie program to have unsold merchandise at the end of the cooking
day. Follow your company'’s procedures for the handling of any leftover product.

Storage Of Prepared Foods
e Cold foods should be kept at or below 38° F. (3° C.).

e Hot foods must be maintained to meet local health codes, usually a minimum 145° F. (63° C.).




Double Revolving Oven Installation

Installation

AWARN'NG Serious injury, equipment damage or death could result if attempting to install this
oven yourself. Ensure that an authorized BKI service agent install the oven.

Unpacking and Handling

It is the owners’ responsibility to file all freight claims with the delivering truck line. Inspect all cartons and
crates for damage as soon as they arrive. If damage to cartons or crates is found, or if a shortage is
found, note this on the bill of lading (all copies) prior to signing.

If damage is found when the equipment is opened, immediately call the delivering truck line and follow up
the call with a written report indicating concealed damage to your shipment. Ask for an immediate
inspection of your concealed damage item. Packaging material MUST be retained to show the inspector
from the truck line.

Remove all packing from the interior and exterior of the oven.

Location and Clearance

Place the oven no less than 10.5" (26.7 cm.) to combustible surfaces at the rear of the machine, and 1"
(2.54 cm.) on the sides.

Wiring
AWARN'NG Electrocution, equipment failure or property damage could result if an unlicensed
electrician performs the electrical installation. Ensure that a licensed electrician

perform the electrical installation in accordance with local codes, or in the absence
of local codes, with the National Electrical Code, ANSI NFPA 70-20XX.

This unit, when installed by an authorized BKI service agent, must be wired for use in accordance with all
applicable local, state, and federal codes. For specific electrical requirements and connections refer to the
wiring diagram attached to the unit or provided in the Service Manual.




Double Revolving Oven

Replacement Parts

Replacement Parts

Use the information in this section to identify replacement parts. To order replacement parts, call your
local BKI sales and service representative. Before calling, please note the serial number on the rating tag

affixed to the unit.

Assemblies

Description Assembly # Figure # Table #

BEARING REPLACEMENT KIT AN9513560S Figure 1 Table 1
CONTROLLER W/ DECAL, 300° F AN9514390S Figure 2 Table 2
CONTROLLER W/ DECAL, 325° F AN9513280S Figure 2 Table 2
CONTROLLER W/ DECAL, CELSIUS AN9514850S Figure 2 Table 2
COOLING FAN AB95148400 Figure 3 Table 3
MOTOR PLATE (208V) AB95148000 Figure 4 Table 4
DOOR, CUSTOMER SIDE AC95124900 Figure 5 Table 5
DOOR, OPERATOR SIDE AC95124600 Figure 6 Table 6
DRIVE ROTOR AB95147500 Figure 7 Table 7
MOTOR PLATE (220-240V) AB95148100 Figure 8 Table 8
ROTOR/SHAFT AN9514780S Figure 9 Table 9

Figure 1. Bearing Replacement Kit

PLAMET GEAR

HUB




Double Revolving Oven

Replacement Parts

Table 1. Bearing Replacement Kit Parts

ITEM # PART # QTY DESCRIPTION
1 B0241 5 BEARING, .751D X 1. OD .813 L
2 FT0366 5 RETAINING RING, PLANETARY GEAR
3 FT0367 5 SHIM, PLANETARY GEAR DR34
4 WSH256 5 WASHER, THRUST .765ID X 1.250D
5 WSH257 5 WASHER, THRUST .765ID X 1.250D




Double Revolving Oven Replacement Parts

Figure 2. Controller w/ Decal

E

O|oo|jo|o | ecd
g

23252828

O

10



Double Revolving Oven Replacement Parts

Table 2. Controller w/ Decal Parts

ITEM # PART # QTY DESCRIPTION
1 NO0274 1 DECAL, DR34 CONTROLLER
2 CP0028* 1 CONTROLLER, 300° F

OR OR

CP0020* CONTROLLER, 325° F
OR OR

CP0026 CONTROLLER, CELSIUS

* - These units can be converted in the field to read the temperature in degrees Celsius. Please contact
BKI Technical Services for instructions.

11



Double Revolving Oven Replacement Parts

Figure 3. Cooling Fan

1 o
/> 3 0 )
/ 2 W st
I y S //
L y
|
AIR FLOW : 5)
- ®
i A
—\_Alv_\_l ~n 4
O : :
5) 6
O} :
I R
Q Q
Table 3. Cooling Fan Parts
ITEM # PART # QTY DESCRIPTION
1 FB95126202 1 FAN PLENUM, DR
2 FNO0014 1 FAN, 230V NMB 3115FS23WB30
3 FA95129702 1 AIR DEFLECTOR, DR
4 SCR315 4 SCREW, 6-32 X2 RD HD SLTD
5 WSHO089 10 WASHER, #6 INT LOCK ZINC PLATED
6 NUTO048 6 NUT, 6-32 HEX ZINC PLTD
7 F0243 3 TERMINAL, 1/4" QUICK CONNECT

12



Double Revolving Oven Replacement Parts

Figure 4. Motor Plate (208V)

@
I
s\\ { Q‘l
=M J §
= -
=7 1 T =
0
[ r_|3| o[} (9) O
\ |
(6)
G
2 (10)
8 19)
@ 4203 ®
(5) @
—y
(3 I5E
ONJZE: i
i ][]
f==cE
SECTION A-A
Table 4. Motor Plate (208V) Parts
ITEM # PART # QTY DESCRIPTION
1 PN95147900 1 MOTOR MOUNT PLATE PAINTED
2 MO0086 1 MOTOR, 208V .48/.5A BALDOR
3 TB0068 1 TERM BLOCK END PLATE
4 TB0066 3 TERM BLOCK 2 CONDUCTOR CTR
5 TB0064 1 TERM BLOCK 4 CONDUCTOR CTR
6 TP0037 0.25 TAPE, 7/8 DBL SIDE 3M6381 WHITE
7 F0079 2 THREAD INSERT 1/4-20 STEEL
8 FT0032 2 COLLAR, 3/8" LSC-6 RB
9 MA95124402 1 MOTOR MOUNT HINGE PIN, DR
10 PN95124300 1 DR MOTOR MOUNT CHANNEL HINGE
11 S0129 1 SPROCKET, FLGD,H32-5M-25,.625
12 SCRO058 4 SCREW, 1/4-20 X 1/2 HEX CAP
13 WSHO044 4 WASHER, 1/4 LOCK ZINC PLTD

13



Double Revolving Oven Replacement Parts

Figure 5. Customer Side Door

SECTION A-A SECTION B-B

14



Double Revolving Oven

Replacement Parts

Table 5. Customer Side Door Parts

ITEM # PART # QTY DESCRIPTION
1 WB95121000 1 DOOR TOP WELD DR
2 WB95122300 1 DOOR TOP COVER WELD, DR
3 SCR138 8 SCREW, 10 X 1/2 PHIL TR HD
4 L0103 1 LATCH, MAGNETIC COMPOSITE
5 SCR390 4 SCREW, 10-24 X 1-1/2 SOC FLAT HD
6 WC95122900 1 DOOR FRAME WELD, CUST DR-34
7 WB95122100 1 DOOR BOTTOM WELDMENT DR
8 FB95122203 1 DOOR BOTTOM COVER DR
9 B0231 2 BEARING, BRONZE W/ FLANGE
10 SCRO030 8 SCREW, 10-24 X 1/2 PHIL RD HD
11 WSHO093 2 WASHER, #10 LOCK
12 SCR160 2 SCREW, 10-24 X1 1/2 SLTD RD
13 NUT131 2 NUT, 10-24 SS 18-8 HEX
14 SCR316 2 SCREW, 10-24 X 1/2 SELF TAP
15 FB95133003 4 MTG BRACKET, DR DOOR FRAME
16 MA95124700 4 DOOR SIDE GLASS TRIM, DR
17 MA95124800 2 DOOR FRONT GLASS TRIM, DR
18 FB95120903 2 DOOR TRIM, DR
19 SCR359 8 SCREW, 10 X 1/2 TYPE B PHIL
20 EA0067 2 EXTRUSION, DOOR 21.562 DR
21 GL0176 1 GLASS, 21 13/32 X 27 13/32
22 GT0004 6 GASKET, LG. U BLACK
23 GLO0194 2 GLASS, SIDE DOOR DR34
24 WSH091 8 WASHER, 3/16 FLAT
25 HO0069 2 HINGE, DOOR DR

15



Double Revolving Oven Replacement Parts

Figure 6. Operator Side Door

O { in 7 Z

R
S
@\
b
I
.R-\l

@ fﬁ .l @\_
— A

SECTION A-A SECTION B-B

16



Double Revolving Oven

Replacement Parts

Table 6. Operator Side Door Parts

ITEM # PART # QTY DESCRIPTION
1 WB95121000 1 DOOR TOP WELD DR
2 WB95122300 1 DOOR TOP COVER WELD, DR
3 SCR138 8 SCREW, 10 X 1/2 PHIL TR HD
4 L0103 1 LATCH, MAGNETIC COMPOSITE
5 SCR390 4 SCREW, 10-24 X 1-1/2 SOC FLAT HD
6 WC95123500 1 DOOR FRAME WELD OPER DR34
7 WB95122100 1 DOOR BOTTOM WELDMENT DR
8 FB95122203 1 DOOR BOTTOM COVER DR
9 B0231 2 BEARING, BRONZE W/ FLANGE
10 SCRO030 8 SCREW, 10-24 X 1/2 PHIL RD HD
11 WSHO093 2 WASHER, #10 LOCK
12 SCR160 2 SCREW, 10-24 X1 1/2 SLTD RD
13 NUT131 2 NUT, 10-24 SS 18-8 HEX
14 SCR316 2 SCREW, 10-24 X 1/2 SELF TAP
15 FB95133003 4 MTG BRACKET, DR DOOR FRAME
16 MA95124700 4 DOOR SIDE GLASS TRIM, DR
17 MA95124800 2 DOOR FRONT GLASS TRIM, DR
18 FB95120903 2 DOOR TRIM, DR
19 SCR359 8 SCREW, 10 X 1/2 TYPE B PHIL
20 EA0067 2 EXTRUSION, DOOR 21.562 DR
21 GL0276 1 GLASS, W/HEAT BARRIER DR34
22 GT0004 11 GASKET, LG. U BLACK
23 GLO0194 2 GLASS, SIDE DOOR DR34
24 WSH091 8 WASHER, 3/16 FLAT
25 HO0069 2 HINGE, DOOR DR

17



Double Revolving Oven Replacement Parts

Figure 7. Drive Rotor




Double Revolving Oven Replacement Parts

Table 7. Drive Rotor Parts

ITEM # PART # QTY DESCRIPTION
1 RO0029 1 ROTOR, DRIVE SPINNING DR34
2 HO0067 5 HUB, PLANETARY GEAR 951
3 SCR411 15 SCREW, 10-24 X 1/2 PHIL RD HD
4 WSH093 15 WASHER, #10 LOCK
5 G0103 5 GEAR, PLANETARY(5) 6 DIA PITCH
6 FT0366 5 RETAINING RING, PLANETARY GEAR
7 FT0367 5 SHIM, PLANETARY GEAR DR34
8 WSH256 5 WASHER, THRUST .765ID X 1.250D
9 WSH257 5 WASHER, THRUST .765ID X 1.250D
10 B0241 5 BEARING, .751D X 1. OD .813 L
11 FC0002 1 COUPLING, FEMALE 4" 951
12 SCR384 2 SCREW, 5/16-18 X 1/2 S/S HEX
13 WSH260 2 WASHER, 5/16 S/S LOCKWASHER
14 NUT131 15 NUT, 10-24 SS 18-8 HEX

19



Double Revolving Oven

Replacement Parts

Figure 8. Motor Plate (220-240V)

;
:..:Llﬂ 1
N A ]
o ]
®
. =
3
® %Huugg
SEika:
SECTION A-A
Table 8. Motor Plate (220-240V) Parts
ITEM # PART # QTY DESCRIPTION
1 PN95147900 1 MOTOR MOUNT PLATE PAINTED
2 MO0087 1 MOTOR, 110-120/220-240 .94/.55 AMP
3 TB0068 1 TERM BLOCK END PLATE
4 TB0066 4 TERM BLOCK 2 CONDUCTOR CTR
5 TB0064 1 TERM BLOCK 4 CONDUCTOR CTR
6 TP0O037 0.25 TAPE, 7/8 DBL SIDE 3M6381 WHITE
7 FO079 2 THREAD INSERT 1/4-20 STEEL
8 FT0032 2 COLLAR, 3/8" LSC-6 RB
9 MA95124402 1 MOTOR MOUNT HINGE PIN, DR
10 PN95124300 1 DR MOTOR MOUNT CHANNEL HINGE
11 S0129 1 SPROCKET, FLGD,H32-5M-25,.625
12 SCR058 4 SCREW, 1/4-20 X 1/2 HEX CAP
13 WSHO044 4 WASHER, 1/4 LOCK ZINC PLTD

20




Double Revolving Oven

Replacement Parts

Figure 9. Rotor/Shaft

Table 9. Rotor/Shaft Parts

ITEM # PART # QTY DESCRIPTION
1 AN95132900 1 ROTOR SHAFT/MALE CPLG DR
2 FOOQ77 1 ROLL PIN, 5/32 X1 1/8
3 HO068 1 HUB, ROTOR 4" DIA 951
4 RO0030 1 ROTOR, PASSIVE SPINNING DR
5 SCR364 2 SCREW, 1/4-20 X 1/4 SOC SET
6 SCR384 2 SCREW, 5/16-18 X 1/2 S/S HEX
7 WSHO045 2 WASHER, 5/16 LOCK ZINC PLTD

21



Double Revolving Oven

Replacement Parts

Electrical Components

Description Component # Figure # ltem #
BREAKER, CIRCUIT .6 AMP 250V CB0059 10 1
CALROD, 208V 2000W C0290 10 2
OR OR
CALROD, 240V 2000W C0291
FUSE HOLDER, 15A 300V HPF-EE FH0001 10 3
FUSE, 15A 300V SC15 TIME DELAY F0097 10 4
LAMPHOLDER W/BULB 12V 20W (OSRAM) LH0024 10 5
LENS, REPLACEMENT FOR LH0024 LAMP LNOOO1
BULB, 20W 12V G4HALOGEN OSRAM 66428 B0562
RELAY, 3 POLE 42CF35AG R0148 10 6
SWITCH, DPST 15A RED LITE 250V S0111 10 7
TERM BLOCK END SECTION TB0002 10 8
TERM BLOCK MDM10/3 70A 600V TB0081 10 9
OR OR
TERM BLOCK MDM10/4 70A 600V TB0082
THERMOCOUPLE, TYPE K T-2016 TO085 10 10
THERMOSTAT, HI LIMIT 2E253B TO057 10 11
TRANSFORMER, 115/230 PRI 80VA TF0043 10 12

22




Double Revolving Oven Replacement Parts

Figure 10. Electrical Components

v
_—
1Tﬂ@/ ‘/\

23



Double Revolving Oven

Replacement Parts

Mechanical Components

Description Component # Figure # ltem #
BELT, SYNCHRONOUS 985-5M-25 B0502 11
INNER CENTER ELEMENT BRACKET FB95128102 11 2
OUTER CENTER ELEMENT BRACKET FB95128002 11 3
CALROD RETAINER FB95116302 11 4
CLIP, SUN GEAR RETAINING LZ0005 11 5
GREASE DRAWER WELDMENT WB95125800 11 6
GASKET, DOOR HANDLE G0314 11 7
GEAR, SUN 951 57 TEETH Go0102 11 8
GUARD, DR34 DOOR TRIM G0104 11 9
HUB, ROTOR 4" DIA 951 H0068 11 10
BRACKET, CALROD HOLDER AND BRACKET B0459B 11 11
LEG, INSERT TYPE FOR 2" TUBE L0045 11 12
PROBE GUARD FA95128202 11 13
ROTOR SHIM FA95134202 11 14
SCREW, 10-24 X 3/4 KNURLED BRT SCR121 11 15
SHAFT SEAT FT0391 11 16
SPROCKET, UNFLGD,MTO H96-5M-25 S0130 11 17
TERM BLOCK 6H12-TSCU-F TB0001 11 18
TERM BLOCK, 1 POLE CERAMIC F0358 11 19
TERMINAL GROUNDING LUG FO111 11 20
PAN, BOTTOM FB95103303 11 21
Figure 11. Mechanical Components
1 2
4 5




Double Revolving Oven Replacement Parts

Figure 11. Mechanical Components - Continued

25



Double Revolving Oven Replacement Parts

Accessories

Description Accessory # Figure # Item #
BASKET, MEAT LARGE CLAMSHELL MBO0015 12

BASKET, MEAT SM CLAMSHELL MBO0011 12 2
INSULATED MITT 13" G0052 12 3
MEAT FORK ASSY SB9536 12 4
MEAT FORK ASSY, TURKEY SB9537 12 5

VEE SPIT 26.563" MF0021 12 6

Figure 12. Accessories

il

26



Double Revolving Oven

Wiring Diagrams

Refer to the table below to find the wiring diagram associated with your unit.

Wiring Diagrams

Wiring Diagram Figure # Page #
220V, 240V, 208V, 3 Phase Figure 13 28
240/415V, 220/380V, 3 Phase Figure 14 30
220V, 240V, 208V, 1 Phase Figure 15 32
240/415V, 220/380V, 1 Phase Figure 16 34

27



Wiring Diagrams

Figure 13. 220V, 240V, 208V, 3 Phase (Sheet 1 of 2)

Double Revolving Oven

Zo6166 8 S | co/ez/L vei-c0 [1] 6z 819 £ril [ £ BOZ ¥oH0 zo/c/6
O DN OS] 340 OH A3H A0S HDNIEE SLIN LMY m@t A o IovHd ENL R T300R v
Z 40 | IHS 0z 179 1zl ¢ £ ovZ #CH0 z0/c/6
& hvV*m_ NG ML SLINMOER Sy S350 o I NLI0A N T300N v
cZ 169 I8l ¢ £ 0zZz #cH0 zo/c/e | mav _
zo:ﬁﬁm.ﬂ%ﬂﬂdﬂ%ﬂ:uﬁ ONLPY LN LISNOD| 3 weasn SLIVB SV ST 2 0N FwHd TN ‘6N 3000 ]
AVHD ——
MOTIAL ——mmimm
MMOYE —— - —-——
Fdund — === — WO 91 SI JHIM HIHIO TV VO 9L S| ML
JONVHD — - =eo—ee = dW3L=IH W9 Z1 S| SH3LVIH NO dW3Ll—IH TV ¥v9
(€7) I8 —————— ZI 38V S3SNJ IHL OL AVI3H 3HL WOH4 SIUIM ® ®
MN._,___ 03y — W9 Z1 3MV SHILVIH FHL OL SIMM VD 0L Iuv (3]
.._m Hovlg ——— AvT3d 3HL OL D018 TYNINN3L 3HL WOMA S3HIM 6]
(OND) NIFYD ——mm— T IINVITSSY 2.00Z SI IMIM "Q3LON SSITNN
CLnEaN) Al ——————————

VBD0EL = HIOTE TWNINGAL "5l
85004 — 3INGS JMYH3D ¥l

FLOOMA = WYd CL

FOLOD = Q4AQL “HOLIDYIYD
COL04D = O4nF "HOLDVAYD "ZL
L5001 = LAN-M "LL
L6004 = ¥GL "35N4 0L
BrLOd = AW3H 6
n*ﬂ.uupltuzmuhm;ﬂ._. W
.m

#ZOOHT = W3IOW0H ‘T9508 - MOZ ‘dPi]
650082 — ¥9'0 "HINYINE -
L6Z00 = MODOE ADKPE = ININITI
OEE0D = MLCIT ADTIO MODOT AROT - LN3IWITI
06Z00 = MOOOZ ABOZ = ININITI 'S
LBOON — ADWE CADZZ BOLON
9E00M — ABOZ WOLONW ‘¥
LLLOS = HILWS °§
SR00L = 380Hd JuNivd3dral ‘T
BZ00dD — DOF IWISOWH3HL
BE00dD — I IWLSOWHEHL
0T00dD = LVISOMHIHL °L

28




Double Revolving Oven Wiring Diagrams

Figure 13. 220V, 240V, 208V, 3 Phase (Sheet 2 of 2)

Ew & 2

R 23 e

£%3 82 |

25 2y 3

2 2oy -8 gé 2

B 8= 930 g% .

&?—e 4

@:gg@ $

- ] E"u
C:—EB—G@

BREAKER SIZE
20
BREAKER SIZE
25

T
e
E;L'
=
ﬁ .
B

[T
15.21
[
743

17.

Ha. OF WIRES

A RE

5 F] F
;g HHE
=

]

CONSULT UNIT RATING TAG PRIOR TO ELECTRICAL CONNECTION
[
| ADM
B
ADM
ADM

9/3/02

DATE
9/3/02
9/3/02

DATE

BY] DATE

it

29



Wiring Diagrams

Double Revolving Oven

Figure 14. 240/415V, 220/380V, 3 Phase (Sheet 1 of 2)

ZB00EL — HIO018 TWNINEIL 'Sl
BEE04 — 3I0Nd5S JWEED ¥l
FLOOMA — Nvd LI
#0104 = Q0L "HOLEWEYD TL
LG00L = LAM=IH "L
L8004 = WGL "35Nd 0L
Brl0Y - AWTIH 6
004l — HINWOISHYHEL "B
¥ZOOHT — H3ITI0H “ZOS0E - MOZ "div] L
650083 — v90 "WINvINE 9

L6E0D = MOOOT ADFPE - ININIT3
OBZ00 = MLEIT AOZZO MOOOT AROZ = INIWITI 6

LBOON = AQYT ADZZ HOLOW “¥

LLIOS = HOLMS €

SB00L — 380dd 3uNivE3I4N3EL 2
BZ004D — O0f LYLISONEIHL
BZ00d42 — J. IVLSOWHEHL

0Z00dd = LVLISOMHIHL L

f061s6 8 s | cofez/e vei-£0 [1) gl 69 zZl ¥ £ 08¢/0z2 ¥Eu0 z0/vf6 | mOv
o N PIS | 3dl oW AR NS MW Pt e S S3H 0 W o] FO¥I M o TAg0N EL EE
o oy o o Gl 79 ol ¥ ¢ Gi¥/ovZ ¥E80 20/v/6 | mO¥
& hvvu_m_ e e s e 35 NI SN S SN 20 W o T o TR I e e
i s T e — — — — - —
NOUI3NNGD ToRLIT15 OL HOWd S¥L E&Eh:sﬁmjz@.u
dWAl=H —ee—e—
AVH) ————————
(8) MOTAA ——mmmem
MMONE ——————
AdnNd — === WD 9l S| J-IM HIHLO T WD G1 SI Nyl
JONVHD — -— e — - — dW3L-IH VO ZI SI SMILVIH NO dWil—H TV vo @
(o) 3ng ————— — ZL 3¥v S3ISN4 IHL OL AVI3Y IHL WOHS SIuIM ® ®
(v) Q3N — 'O Zl 3¢V SHIALYIH IHL OL SIuM 'vD Z1 Juv e
E._qu #av18 AV13d 3HL OL M2078 TWMINHEEL 3HL WOM4 S3dm @
LSV N — “JIM 3ONIIddY D.002 SI FMIM 'GILON SSTINN

30




Double Revolving Oven Wiring Diagrams

Figure 14. 240/415V, 220/380V, 3 Phase (Sheet 2 of 2)

B
TrElsrd  DRARNG No.

=
[1] 03-134 7/28/03 | 5, B ,951903

CONMECTION MAY BE LOCATED

ON SOME RELAYS, THE COIL
AT THE BOTTOM.
MAKE FIELD CONMECTIONS

TO THESE TERMIMALS.

CONSULT LIWT RATING TAG PRIOR TO ELEC TRICAL COMNEC TRON
e,
-
-y

WIEWED
fop
NOTE
NOTE
HEE GROUND
COMMECTION
f—
= |
——
o
Bg
=
w“
—
e
=y
REV, M.

BREAKER
15
BREAER SUE
15

KILOWATTS
6.2
KILOWATTS
6.9

LIGHTS
THROUGH
ON TOP

E-1
-
220-240V

OVEN
ACCESS
PANELS

OVEN

FAN BLOWS

5

mm:rmlrmnm
“WYL" CONMECTED FOR 38OV OR 415V OPERATION

ERLANER
TUSILAR HEATER ELEMENTS
DN BT

e

$8® AR E‘EE
i:g[_ﬁﬂﬁ ‘I%"E%
:

o 111
HISE HE
o\

31



Wiring Diagrams

Figure 15. 220V, 240V, 208V, 1 Phase (Sheet 1 of 2)

Double Revolving Oven

906156 8 S | £0/8Z/¢ ¥E1-%0 [1] o TR L6 Z 1 802 | Z0/5/6
oM SMWYHO  PITS| o A3 ATE WL SV Sy ST 40 N Foid FWLOA O TH00N g
Z 40 | IHS 5 1z9 657 F 1 0vE ¥EH0 20/6/6
ﬁ ...vv.mm_ 1006 HDNEHA SLLYMOIN Sty SIHM IO 0N I5¥H IWII0A ON_TH00N vl
oF 169 ¥ig FA 1 07z #EU0 z0/5/6
____Euu.nam_“quwnuhﬂmé HENES L ENEEY L) L 15 ¥R SLIVIITEY Sy S34M 0 N IoWHd ELN) N TI00N v
IV ————————
MOTIZA — — = ———
NMOYE — - —-—
INdENd - — == r—r— WO 91 S| MM MIHLO TV VO 91 S| Nvl
JONVHO — == — dW3L=IH '¥9 Z)} S| SHILYIH NO dW3AL=IH TV v9 @
(£ I — == ——— Z1 38V S3SNd IHL OL AY13Y 3JHL WOHd S3uM ® ®
Mn._ a3y —— W9 Z1 3¥¥ SHIALYIH IJHL OL SIHM ‘vO 0L Iuv @
1) ¥ov1ly ————— AVI3Y 3HL OL ¥D078 TYNMIMN3IL JHL WONS STHm @
(aND) NFFH) —— e —— FYIM IONYTISDY 2,002 SI JMIM "OILON SSIINN
("LN3N)  3LIHM —-—-mmmmmmmeeeee
11 2
® T

LB00AL = WIOTE TYNNHIL S ®
B5E04 = J0NdS MMVHED wi s el s e (1] !
¥IO0H = Nvd Tl _ e e e e e e e ]

¥0I0dD — Q401 HOLWAYD
£0L0d3 = Q4 "HOLDVSYD ‘T1 i _I
£500L = LIAM=IH "LL !
L6004 — W51 "35N4 0L

650080 - ¥8'0 “WIMvIEE ‘9

600 = MOOOZ ADPE = ININGT3

DBT00 = MLLTT ADETO MOOOT AGOT = IN3WIT3
06200 = MDDOZ ABOZ = INIWIT3 °§

LB00M — ADYZ 'ADZZ HOLOW
9EOON — ABOZ HOLOW ¥
LLIOS — HOLMS ©
GE00L — 380¥d 3WNIVEIGNEL “Z
BZ00dD - 00T 1WLSOWHIHL
90042 = 2. IVISOWHIHL
0Z00dD = LVLSONNIHL “L @

@

I
i
-
I
FIOOHT - HIOT0H "I9S08 — MOZ “divl L @F i _
I
| .
I
Il

32




Double Revolving Oven Wiring Diagrams

Figure 15. 220V, 240V, 208V, 1 Phase (Sheet 2 of 2)

5
4@ 2 ~f2

=] 5 —
L & B o
£33 32 . E“
EzE EE = . - E -
ged B ob ONNOHO HOlOW _ © <
E‘ SREE wE 24 38 &
g 525, 53 g% o8 E
E-%—‘ Ecuq z [LY ] IE &
Qe 88324 x
] £ )
= = E‘-:

L/

: Sy B
, | a
] |
- =y
ONNOHD H0LOW

§

BREARER SIZE
40
BREAKER SIZE
35
BREAKER SIZE
40

KILCHATTS
6.91
KILEWATTS
621
KILOWATTS
6.18

o
4 5 F]

CONSLLT UNIT RATING TAG PRIOR TD ELECTRICAL CONNECTION

33



Wiring Diagrams

Figure 16. 240/415V, 220/380V, 1 Phase (Sheet 1 of 2)

Double Revolving Oven

=R 806156 8 S | £0/82/L +£1-0 [1] oF 9 gIE z 1 08g/022 ¥EU0 zo/s/e
o S IS [l _owoamy | 3ns amedes ST S S 40 N I I ] g
T g o, S T 2 S z9 662 z 1 sir/ove ¥Eu0 20/s/6
& hvv___m_ -ﬂnl!mkd._ﬂlmhhtﬂi I M SOy Sy ST KON I FHII04 ‘o TI00N g
NOLLIFNNGD TY NHLIT T 0L %Qﬁwﬁﬁihﬁﬁ
df3l-H ——e— - —
AVH) ————————
(8) MUTIER =i
NMOYE —— - —-—
SRl | e =i e VO 91 S| MM ¥IHIO TIV VD 91 SI Nyl
TN e e: == dW3L-IH VD T SI SNILVAH NO dWal—H TIv vo @
() I8 ———-— e Tl 3¥¥ S3SN4 3HL OL AVI3Y 3HL WON4 S3IHIM
(v) 03 ———— ‘WD ZL 34V SyILYIH 3IHL OL SIHIM 'vD OL 3av
_.H‘N_._uz Hvlg — A13d 3HL OL M2078 TYNINY3AL 3HL WOodHd S3dm
anNg z“._m_mﬁm — e "3diM 3ONVTIddY D.00Z S| 3MIM ‘O3LON SSIINN

.@ ¥ N

#ZOOHT = HIOWH "ZTHS08 = MOZ "dWv L
650080 - ¥9'0 “WIMvIa ‘9
16T00 = MOOOZ ADHE — INIWNIT3

OET0D = MLETE MOZTO MODOZ ABOZ — IN3ININ3 6
LBOOM = ADYZ 'ADZZ HOLOW ¥
LLIOS — HOLMS ©
GE00L — 380¥d 3WNIVEIGNEL “Z
BZ00dD - 00T 1WLSOWHIHL
90042 = 2. IVISOWHIHL
0Z00dD = LVLSONNIHL “L @

34




Double Revolving Oven Wiring Diagrams

Figure 16. 240/415V, 220/380V, 1 Phase (Sheet 2 of 2)

I E&*
Ew oY E.g &
Gy 23 | = Bl
<33 88 e E o
2 Eég gﬁ né E:!,Eﬁ: 8
_%m§ ol zg “
y (o, b g Eﬂﬁ( §5i§F| 3
= § ify -
et ilﬂl|£§.
= %llih:iau

BREAKER SITE
40

E:ﬂ

KILOWATTS
6.2

KILOWATTS
6.9

2 HOLOW

220—240?

sk :
2

AR INTO

CABIMET.

NOTE:

e
s .
" B
i s
i

= i _|#
5 HE
B .l _
ot igks
T

FPROVED
ADM

JarPROVED
ADM

35



Double Revolving Oven Notes

Notes

36



Double Revolving Oven Notes

37



P.O. Box 80400, Simpsonville, S.C. 29680-0400, USA
http:/iwww.bkideas.com

Made and printed in the U.S.A
L10194/0407



